ASSEMBLY INSTRUCTION




x 18 x 26 x 22 x 8 x10 [|(® X 2
(@ () (@ (D & @)@
Mox40 Mox30 Mox12 M7x50 Mox15

x4 || X1 X3
M =

M4




(D x1PC

;

(@ x1PC

$
:

(3) x1PC

@) x2PCS () x2PCS %@
(@) x1PC x2PCS (9) x1PC

)
)

)

x1PC

/
/

(D x1PC

(12) x1PC

(13 x4PCS x1PC @5 x1PC
(7) x2PCS

x4PCS
Qy,




D@

= I‘v-m@)@

£

typel

X 1

(((((((((((((((((((((((((((((@

Mo6x40

/




L

M4

(((((((((((((((((((l((@

M6x30

N
)
S
©

%ﬁ/

e\

©

M%Z

e\

©

|-
I

el = |o

X 1

M4

X 8

Fmmmmmn

M7x50




@ X 4

X 1

(((((((((((((((((((((((((((((@

Mo6x40

(@@

Mox12

M4

o \‘. /
/ | \L /
@ x4 © ¥ 3 @ % 1 LF\EL
((((((((((((((((((((((((((L((@ (((((((((((L((@ M
M6x40 M6x12 M4
6




RIS

.......... .HEHO

L

M4

v

M4

(((((((((((((((((((l((@

M6x30

e

Mox12




®
3 e
Mox12 M4
10
D D
/ Q]Fw ,
/ . v b
t v, a
A | /
@ X 3
=

I
<




) (@)

Mo6x40

x 10
:
M6x15 @ @
%\t
| ® @%\‘w 4‘1\
] T
Ny &j 'l
| | ¢ | &L
o 1 %L
~
@ x 10 X 1
(((((((((((((((((((((((((((((@ M




L

M4

(((((((((((((((((((l((@

M6x30

@

77T

z ﬁ\ﬁ\ .

@

P

\l\mﬁ\ﬁ\\

:Imm

@m - m@

X 1

M4

X 8

Fmmmmmn

M7x50

-10-



X 4

X 1

((((((((((((((((((((((((((L((@

M6x40

@@

Mox12

0

X 4

(((((((((((((((((((((((((((((@

Mo6x40

(@@

Mox12

M4

-11-




x 18

@

(o

M6x30

8

e

Mox12

-12-




® 1@ x3 x8 |® X1
(,)@ (e L
M6x12 M4
10
o 2
-
¥ rjRF | E j@ \
k\ \3%3 J
R
D X 3

-13-




)@

£

type3

x 10
&
M6x15
2 e
- . :
5 Ny F ‘
® & & I 1“%
N | |
| ) | e ©
. | ® | & %L
® | % ,L :
L |
D) x 10 x 1
(((((((((((((((((((((((((((((@ M
M6x40 M4

“14-




e
: —

]

® _\

-15-

L~
M4
g
==
?\m\ )
/LL\
\

©

M6x30

([

X 1

M4

X 8

oD

M7x50




X 4

((((((((((((((((((((((((((L((@

M6x40

@@

Mox12

(@@

Mox12

M4

-16-




@\\ A >/“..

eh @_\_@E/\\ .

- = &

.......... ‘>

ERN

BT
] a\ | /

X 1

L

M4

x18 |H)

(((((((((((((((((((l((@

M6x30

A

\V%@

/ﬁi\\ ,

©
p

N

N

\_ /

=

©

1

X

v

M4

X 6

e

Mox12

/-

-



a@ @% 0 /N//J
s % \ = =)
Y A
) \
@/\\ = = — ]
\/
% N
\ = ©0 ) =
7 a ’
.o X Y%,
O \g© »= - & V),
b s © :
\Z ©)
L 3 @
N \ 0
Ve ) S o

VA

VE]

©




)@

£

type4d

x 10
&
M6x15
2 e
- . :
5 Ny F ‘
® & & I 1“%
N | |
| ) | e ©
. | ® | & %L
® | % ,L :
L |
D) x 10 x 1
(((((((((((((((((((((((((((((@ M
M6x40 M4

-19-




X8 @ X 1
() M
M6x30 M4
4
_ @ 100%
== 94 ¢
| ] ° =0
/o ’m@ / I ) @
@ L
fomme [ /
I I l&. %J / /JJ\
m@m:::::::::: lJ&lJ%J
® x8 |(H) X1
— L
M7x50 M4




@ X 4

X 3

((((((((((((((((((((((((((L((@

M6x40

@@

Mox12

@ X3

4
x4

(((((((((((((((((((((((((((((@

Mo6x40

(@@

Mox12

M4




&

X 1

L

M4

(((((((((((((((((((l((@

M6x30

v

M4

e

Mox12

-DD-



A\

Yk ° a@@
7/ L \
-4
QL 4 ONR
=0 @ A
N [ .
© _. Y e -
A\ mrw =
\ 70 4 =
N\ g |00
A\ 4
© B a \
N7
F=l Z
Y o
. ) 2
L
S = 0
A\
7)

W\

 —

S = %\
N s
\@ — —
-
= ©




	2208-层板在左 说明书01
	2208-层板在左 说明书02
	2208-层板在左 说明书03
	2208-层板在左 说明书04
	2208-层板在左 说明书05
	2208-层板在左 说明书06
	2208-层板在左 说明书07
	2208-层板在左 说明书08
	2208-层板在左 说明书09
	2208-层板在左 说明书10
	2208-层板在左 说明书11
	2208-层板在左 说明书12
	2208-层板在左 说明书13
	2208-层板在左 说明书14
	2208-层板在左 说明书15
	2208-层板在左 说明书16
	2208-层板在左 说明书17
	2208-层板在左 说明书18
	2208-层板在左 说明书19
	2208-层板在左 说明书20
	2208-层板在左 说明书21
	2208-层板在左 说明书22
	2208-层板在左 说明书23

